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Exponents

Lesson 17

‘the

Write in exponent form.

8:.8:.8:.8:8.8:8 2. kekekekeke-k

Apply the meaning of an exponent to evaluate.

3= 5. 5%= 6. (2%=

(4m)3 = 9. (—x4=

Apply the Zero Property of Exponents to evaluate.

11.

60 = 12. 19=

Rewrite each term using a positive exponent.

772= 15. (-5 3=

Apply the Product of Powers or Quotient of Powers.

17. 32.34= 18. (—4)° . (—4)* =
Evaluate.

20. (—11)0 = 21, 32.33= -~ 22, 24.2=
24, 85+ 83= 25, 74+ 7= 26. |40 =

Solve the problem.

28,

Why can you apply the Products of Powers rule to evaluate 25 « 23,
but not 25 « 33? Explain how you can evaluate 25 « 33.

10.

16.

19.

2n « 2n s 2n « 2n

7.

(-1p =

(0.2y2 =
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How Did the Light Dress Up for the Costume Party’
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Why Did The Farmer Open A Bakery?
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